TERMS & CONDITIONS FOR SUPPLY OF SPARE PARTS
(MECHANICAL SECTION) OF REGIONAL WORK SHOP (R. w.S),
SCB MCH, CUTTACK

OFFICE OF THE SUPERINTENDENT, S.C.B. MEDICAL COLLEGE &
HOSPTIAL, CUTTACK

(HEALTH & F.W. DEPTT,, GOVT. OF ORISSA)

CENTRAL STORE (N.T.S.K SEC.),
S.C.B. MEDICAL COLLEGE HOSPITAL, CUTTACK

LAST DATE & TIME OF RECEIPT OF BID DOCUMENTS :

(Through Speed Post & Regd. Post only)

DATE OF OPENING OF BID DOCUMENT

PLACE OF OPENING OF BID DOCUMENTS - Office of the Superintendent,

S.C.B. Medical College, Hospital,
AND Cuttack

ADDRESS FOR COMMUNICATION
AND

RECEIPT OF BID DOCUMENTS

Contd....P/2

Poui




nan

TERMS & CONDITIONS

1. Tenderer should deposit Rs. 1000.00 (Rupees One thousand) only (Non-  refundable) in
the Accounts Section (Gowt.) from#3/./&4. in between 11.00 AM to 4.00 PM any
working days towards cost of the tender paper. The tender documents can be obtained
from the store section (NTSK SECTION) on production of money receipt from 11.00 AM
to 4.00 PM. The last date of submission of tender on or before Dt. J.3.110 25, Upto 4
P.M. and it will be opened on [3’!0/9‘2/_) at HP’”) An index be attached in the 1°
page of the Technical Bid indicating the list of all documents enclosed duly signed the
tender. All the documents should be signed by the bidder.

2. The Bidders may also download the Tender Documents directly from the WEBSITE
available at “http://www.scbmch.in” from &3;!9!@ The Tender cost fee of Rs.
1000/- (Non-refundable) by way of separate Demand Draft drawn in favour
Superintendent, S.C.B. Medical College & Hospital Cuttack payable at Cuttack
should be enclosed along-with the Bid. The Bidders should specifically super scribe,
“DOWNLOADED FROM THE WEBSITE” on the top left corner of the outer envelope
containing the Bid. In case of any bid amendment and clarification, responsibility lies with
the bidders to collect the same from the website / Office of the undersigned before last
date of sale of tender document the Superintendent, S.C.B. Medical College & Hospital
Cuttack shall have no responsibility for any delay / omission on part of the bidder.

3. The tender should be in “Two Bid type”. All documents and specification of the eguipments
should be closed in a separate envelope superscribed as “TECHNICAL BID" and cost of
each items should be forenest in a sealed cover separately super scribed as “PRICE
BID". Both the envelope may be kept in a closed envelope stating as TENDER FOR
SUPPLY OF SPARE PARTS (MECHANICAL SEC.) OF R.W.S., SCB MCH, CUTTACK.
The tender should submit through the Regd. Post/Speed Post only.

4. The Bids shall be opened in front of the Bidder or their authorized representatives. The
authorized representative should produce authorization letter from their respective
bidders with their identity. There is no bar for opening the tender by the competent
authority even if the Bidders or their representatives are not present.

5. BID DOCUMENTS:
The following documents duly signed by the Bidders should accompany the envelope
superscribed as TECHNICAL BID in the order prescribed bellow only.
TECHNICAL BID:

(A) The bidder should submit details description, size etc. of individual items, hard
copy and soft copy.

(B) Original money receipt for purchase of tender paper 7 in case downloaded forms
DD of Rs. 1000/- to be enclosed.

(C) E.M.D.Rs. 20,000/~ in shape DD pledged in favour of Superintendent, SCB
Medical College & Hospital Cuttack.

Contd...P/3

L




43/

(D) Attested photo copy of GST Registration Certificate.
(E) Attested copy of the Pan Card.
(F) Detail address and phone number of the Bidders.

PRICE BID:

The Price bid shall contain nothing else except the price quoted for individual items. Price
bid of only those tenderers shall be opened who are found qualified in the Technical bid.
Time and date for opening of Price Bid shall be fixed and intimated to the qualifying
tenderers. g ;

10.

i b

12.

13.

14.
15.
16.

(A) Basic price of each items should be quoted in Indian Currency.
(B) TAX structure mentioned separately.

There is no provision for letter of credit (L/C) payment will be made after successful
supply.

Delivery of the items should be made Central Store (NTSK Sec.) of this hospital of SCB
MCH, Cuttack as per requirement if directed by the undersigned.

The rate of the items should be quoted in the Indian currency both in words and figures,

excluding taxes. The tax position and other charges if any should be clearly mentioned
separately.

As this is a tertiary care hospital, these items will be required on emergency basis. The

supplier should supply the items as far as possible after the issue of the purchase order
taking into the patient care service.

The bidder should have their supplying branch cum functional officer in the Cuttack or
Bhubaneswar Municipal Corporation Area to meet the emergency requirement of the
hospital. The detailed address and phone Number should be enclosed.

If any information or documents furnished by the tender are found to be incurred or
misleading at any stage the tender or conditional tender will be rejected.

The undersigned/committee is not bound to accept the lowest tender rate considering
the quality aspect.

The authority/committee reserve the full right to accept in full or reject any or all the
tenders without assigning any reasons thereof.

Payment will be made as per availability of the funds.
The validity of the tender will be for one year from the date of finalization of the tender.

If the product will be found unsuitable for use after the receipt of the items, the same will
be replaced by the supply firm.

NAME OF THE SPARE PARTS : ATTACHED AS ANNEXURE-A.

AgLAT

Medical Superintendent
SCB Medical College & Hospital
Cuttack




MECHANICAL SECTION
SLNO DETAILS OF THE ITEMS
1 Ball Caster Rail 35mm
2 Ball Caster Rail 50mm
3 Ball Caster Rail 65mm
4 Ball Caster Rail 80mm
5 Caster wheel fly (Plate type) socket type-4"x1"
6 Caster wheel fly (Plate type) socket type-6"x2"
7 Caster wheel fly (Plate type) socket type-5"x11/2"
8 fron nut bolt (full thread)-3"x11/2" per kg.
9 Iron nut bolt (full thread)-1"x5" per kg.
10 Iron nut bolt (full thread)-4"x1" per kg.
11 Iron nut bolt (full thread)-1/2 per kg.
12 fron nut bolt (full thread)-3/8 per kg.
13 Iron nut bolt (full thread)-3x5/16 per kg.
14 Iron nut bolt (full thread)-38"x5/16 per kg
15 Iron nut bolt (full thread)-4"x5/16" per kg.
16 fron nut bolt (full thread)-3/12"x3/8 per kg
17 Iron nut bolt (full thread)-4"x1/2" per kg
18 Steel screw 13"x6 per kg.
19 Steel screw 19"x6 per kg.
20 Steel screw 20"x8 per kg.
21 Steel screw 38"x10 per kg.
22 Steel screw 58"x10
23 Black iron pipe swg per ft-1"x1/4x 18
24 Black iron pipe swg per ft-1"x 18
25 Black iron pipe swg per ft-2"x 18
26 G.i sheet-18swg sq.ft
27 G.l sheet-20swg sq.ft
28 G.i sheet -22swg sq.ft
29 V.S Angel-1"1/4
30 M.S Angel-1/4
31 V.S Angel-2"x 1/4
32 Plain giass with fitting 3 mm sq.ft
33 Plain glass with fitting 4 mm sq.ft
34 Plain glass with fitting 5 mm sq.ft
35 Plain glass with fitting 5 mm sq.ft
36 Plain glass with fitting 8 mm sq.ft
37 Plain glass with fitting 10 mm sq.ft
38 Fiber whee! -4" x 1"
39 Fiber wheel -5" x 1"
40 Fiber wheel -6" x 1"
: 41 Cast iron rubber type -12"x 2" per pc.
| 42 Stainless steel plate 18 swg.per sq.ft
{43 Stainless steel plate 20 swg.per sq.ft

gL




44

Stainless steel plate 22 swg.per sg.ft

45 Hydrolic Washer 3/16x1/4 per kg.

46 Iron Washer 1/4" per kg

47 Iron Washer 3/8" per kg.

43 Iron Washer 5/8" per kg.

49 Iron Washer 3/4" per kg.

50 Iron Washer 1"x 1/4" per kg.

51 Mobil oil (Castrol) per 20grad

52 Mobil oil (Castrol) per 40grad

53 Cast iron rim with molded fixed type -12"x2"
54 Cast iron rim with molded fixed type -10"x2"
55 Cast iron rim with molded fixed type -6"x2"
56 Cast iron rim with molded fixed type -5"x1"
o7 Cast iron rim with molded fixed type -4"x1"
58 Cast iron rim base molded fixed type 12"x2"
59 Cast iron rim base molded fixed type 10"x2"
60 Cast iron rim base molded fixed type 6"x2"
61 Bearing plain deep grove per pc-301

62 Bearing plain deep grove per pc-630z

63 Bearing plain deep grove per pc-60x630

64 Bearing plain deep grove per pc 2zrs

65 Bearing with socket per pc

66 Bearing plain deep grove per pc-6202zz

67 Arc Welding Rode 3.5 mm

68 Arc Welding Rode 4 mm

69 Arc Welding Rode 12 mm

70 Aluminum sheet 18 swg per sq.ft.

71 Aluminum sheet 18 swg per sq.ft.

72 Aluminum sheet 18 swg per sq.ft.

73 Stainless steel Arc Welding rod 3.5 mm

74 Stainless steel Arc Welding rod 4mm

75 Stainless steel Arc Welding rod 12 mm

76 Steel Almihra handle with lock

77 Stretcher "U" clamp per piece

78 White Enamel paint

79 Primer red oxide

20 Tarpin oil

81 Emery cloth 60 per pc.

82 Emery cloth 80 per pc.

83 Emery cloth 120 per pc.

84 Colour Brush 1"

85 Colour Brush 1.5"

86 Colour Brush 2"

oL




87

Colour Brush 2.5"

88 Roller Brush 2.5"

89 Roller Brush 4"

90 Wall Primer

91 White Cement

92 Wall white paint Colour

93 Wall Paint Brush 6"

94 Wall Paint Brush 4"

95 Scrapper per PC.

96 Cutter disc 4"

97 Distilled Water

98 Grease
BP INSTRUMENT

99 BP bulb ir/pvc

100 B.P control valve meter

101  |Armlet with long & short tube

102  |Armlet cloth with double Velcro

103 Spare glass tube for B.P instruments

104 Mercury pure for B.P instruments

105 Bp hinges left/right

106 Mercury tank with lock

107 Mercury scale 0-300mm/hg

108 Male/Female connector

109 |Valve washer

110 [Washer for B.P Instrument

111 Dial B-P Armlet with single tube
OXYGEN FLOWMETER

112 |02 meter (0 to 200) flb/inkg/cm

113 Adjustment screw with washer

114 Water Bottle

115 Flow meter outer tube

116 Inner tube with tube

117 |Outer washer (as per sample)

118 Inner washer (as per sample)

119 Bottle washer (as per sample)

120 BPC lower portion humidifier bottle

121 BPC flow meter with meter fitting

122 Rota meter

123 Humidifier bottle (for F.A valve)

124 Fine adjustment valve with gauge & key

125 Spare gauge (for F.a Valve)

126 Spare hexagonal nut for F.A Valve

127 Rota mter tube inner & outer for F.A Valve
GAS PLANT EQUIPMENTS

128 Oring Set (Modular point)

129 S.S Point Washer

OLY




130 Panel board Diafome

131 Safety valve

132 Regulator Oring

133 Pressure Switch

134 Pressure Switch valve:

135 Air control Regulator

136 Vacuum Switch

137 NRV

138 02 Tall pipe

139 Nitrous Tail pipe

140 |02 key

141 Modular Point-02, N20, Vacume, Air

142 S.S Pointer connector-02, N20, Vacume, Air

143 Modular connector-02, N20, Vacurne, Air

144 Air Compressor Filter

145 V-belt/IN-10-7

146 Vacuum Machine Belt

147 Air Machine Belt

148 10 HP Starter

149 Motor Switch

150 Distinct T-30 QOil (5ltr jar)

151 QOil Filter

152 Qil Separator

153 Ultra Coolant Qil/5ltr jar

154 Pressure Regulator

155 60 CFM LP carbon filter

156 Valve Assy 3"

157 Valve Assy5"

158 Valve Assy 5.5"

159 Gasket Set(Compressor)

160 Gasket Set (Vacuum)

161 10 HP Motor Repair

162 Vacuum Sensor

163 Piston Ring Set LP

164 Piston Ring Set HP

165 Piston Ring Set

166 Receiver safety valve190PSIG

167 CSC

168 AUX valve

169 Automatic drain valve

170 Air filter Element

171 Hp connnecting Rod

172 LP Connecting Rod

173 Top piston HP

174 Top piston LP

175 Crank shaft Assy

G




176 Bush crank pin
147 Bypass Connector
178 2way switch
179 12mm clamp
180 L/N ky screw
181 Suction Pipe
182 Regulator
183 Hydrogen Water
184 Suction Regulator Diafome
185 Suction Regulator Spring
186 Suction Regulator Bolt
Air Compressor 75kw [Kaison]
187 Air filter Element
188 Oil filter Element
189 Separator Element
190 Kerry 10# lubricants 5 Gallons
191 CHEVRON GREASE SRI NLG12
Air Compressor 75kw {DryAir)
192 Air filter Element (4211-26-04)
193 Qil filter Element-(4212-03)
194 Fine Separator (4213-112)
195 |Oil Can- (20 Ltrs)
Air Compressor 37 Kw (Airox)
196 Air filter
197 Oll filter
198 Qil Separator
199 Oil can-20 Ltrs.
200 Auto Drain Valve
MECHANICAL TOOLS
201 Hande Sander Machine GWS 600-(BOSCH)
202 Professional marvel cutter MACHINE (1200 Watt)-(BOSCH)
203 Hand drill machine (BOSCH)
204 Drill power & Hand tool kit (GSB-600)(BOSCH)
205 Pipe cutter machine (BOSCH)
206 Multipurpose water lable(BOSCH)
207 Water pump Pliers 10 (Taparia)
208 Multipurpose oil can
209 iron cutter Scissor (Taparia)
210 Nose Pliers (Taparia)
211 Pliers (Taparia)
212 Screw driver set (Taparia)
213 Hammer Small,medium,large
214 Chisel (Taparia)
215 Measure Tape
216  |Adjustable wrench-12" (Taparia)
217 Hole punch

VAN




218

Hacksaw (Taparia)

219 Pipe wrench-12" (Taparia)

220 Taparia Spanner kit

221 Taparia Box wrench set

222 T

223 Ring set Key (Taparia)

224 Electrical Pliers (Taparia)

225 Neon Tester (Taparia)

226 Multimeter

227 Electrical safety gloves

228 Goti wrench spanner tools set-full set (Taparia)

229 Electrical wire cutter (Taparia)

230 Utility Knife

231 Allen Key (20,21,22,23,24) (Taparia)

232 Box Spanner (18,20,23,24) (Taparia)

233 |Ring Spanner (14/15,16/17,18/19,20/22) (Taparia)

234 Adjustable Spanner (6",8",10",12",15", 18") (Taparia)

235 Pipe Wrench (8",10",12",14",18",24") (Taparia)

236 Monkey Wrench (Taparia)

237 Hacksaw Frame Blade

238 Vibrator drill Machine (BOSCH)

239 Nails (Cobra)

240 Saw blade

241 Diagonal cutting pliers (Taparia)

242 Drill bit size (BOSCH)
1/64",1/32",3/64",1/16",5/64",13/64",7/32",3/32",7/64",1/8",
9/64",5/32",11/64",3/16",15/64“, 1/4", 17/64",9/32",19/64",
5/16“,21/64",3/8,25/64",13/32",27/64"7/16",29/64",15/32",1/2",
33/64", 17/32",35/64",9/16",37/64",19/32",39/64",5/8",41/64",
43/64",11/16", 45/64”,23/32“,47/64",3/4", 49/64",25/32",51/64",
13/16“,53/64“,27/32",55/64“, 7/8",57/64",29/32", 21/23",
59/64”,15/16".61/64",31/32",63/64
PLUMBING EQUIPMENTS

243 Urinal

244 Wash Basin

245 W.C (Indian, Amarican)

246 |4" PVCPipe

247 4 "PVC Pipe-T

248 upvc(1/2",1")

249 COLOR(1",1/2")

250 Elbowe

251 Bend

252 3/4 UPVC Pipe

253 3/4 Elbow

254 3/4 Bend




255 3/4 Tee

256 Bulb Value

257 M.T.A

258 ET.A

259 End Cap

260 Copler

261 Reducer Tee

262 Long Tank Nipple

263 |Threded Elbow

264 Brass Reducer F.T.A, Bend 3/4
265  |Tank Nipple(inside/outside threded)
266 Threaded Tee

267 Union

268 3/4 Brass Reducer tee
269 3/4 Brass MTA

270 |3/4 Brass Elbow

pif B B GV L)

272 3/4 Brass Tee

273 3/4 Brass MTA

274 Reducer Copler 3/4

275 PVC

276 |4" PVC pipe

277 4" PVC pipe-T

278 PVC U Trap (4)inch

279 Door Tee (4) inch

280 Door Bend (L) (R) 4 inch
281 4 inch Door Bend

282 4 Inch P Trap

283 4inch S Trap

284 4 Inch QTrap

285 45* 4 inch Bend

286 Mayani Trap 4 Inch

287 Y-Tee 4 Inch

288 Door Cross Tee 4 Inch
289 Door Tee (L) (R) 4 Inch
290 4 Inch Copler

291 4 Inch clip

292 plain Tee

293 Plain Elbo

294 Plain Ben

295 Plain Colour

256 C-PVC

297 1/2 Inch, 1 Inch Elbow 90*
298 1/2inch, linch Cross Tee
299 1/2 Inch, 1 Inch Plain Tee
300 Bulb Value




301

1/2-1, Inch Copler

302

1/2-1, Inch M.T.A

303

1/2-1, Inch Union

304

1/2-1, Transition Bush

305

1/2-1, Tank Nipple

306

1/2-1, Step Over Bend

307

1/2-1, Mixer Ader

308

1/2-1, Brass M.T.A

309

PVC Gum

310

C PVC Gum

341

U PVC Gum

312

Tap (Plastic, Steel, Jaquar)

313

Pipe Blockage Machine

314

Connection pipe 2 mtr,3mtr

315

Teflon Tape

316

Drainage Jali

317

Blockage Powder

318

40mm PVC Pipe, All Fitings

319

Section Piece (1/2",1")

AQUAGUARD SPARE PARTS(PLUMBER)

320

1 Pre filter

321

Sediment filter

322

Pre-carbon Filter

323

Sclenoide Valve

324

Booster Pump

325

R.O Memberance

326

7 U.F Memberance

327

u.V filter

328

U.V Choke

329

Mineral catridge

330

Clamps

331

Elbow

332

Flow Restrictor

333

Auto Flashing

334

Flot Switch

335

Tap

336

Low Pressure Switch

337

Inlet Valve

338

Pump Head

339

Antiscalent doser

340

Presure gage

341

inlet/Out let Pipe

342

Pipe connector




